Cdd
ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

ABS Watertight 09
Product Drawings
Last Updated 3/31/2008

Rose+Bopla Enclosures
7330 Executive Way
Frederick, MD 21704
www.rose-bopla.com
rbinfo@pm-usa.com

sbuimeiq [euoisuawiqg

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800



Rose+Bopla’s ABS Watertight 09 enclosures are designed for a
wide variety of electronic packaging applications. They are
particularly suited for enclosing electrical and electronic com-

ABS Watertight 09 Enclosures

ponents and housing complete small control systems. These
enclosures have been used for solar panel control boxes, medical
oxygen monitors and electronic lighting dimmer control housings.

The ABS Watertight 09 enclosure offers the lowest cost in
our watertight enclosure line. ABS is an excellent alternative
when reduced material characteristics are sufficient. The low
cost makes these boxes ideal for large production runs.

Made from injection-molded ABS plastic (Acylonitrile-
Butadine-Styrene), the enclosure includes a base and lid,
captive stainless steel lid screws, molded-in lid screw inserts
in the base, and a neoprene watertight gasket. Metric press-in
brass inserts for internal mounting bosses are also available.

TECHNICAL DATA:

¢ Color: Light Gray similar to RAL 7035 with a high-gloss finish
* Material: ABS. See ABS specification sheets in the Technical
Information Chapter.

ABS Watertight 09 Enclosures

' ifications: Length Width Height e | Drawing
* Z?ﬁ:t{% ?)gslfzzlftlgalfll:;sa axX Part Number (Inchesg/mm) (Inches/mm) (Incheg/mm) Weight Page #
IP 66, EN 60529 0905050400 | 2.05/ 52| 1.97/ 50| 1.38/ 35| .08lbs| 17-53

0905070430 | 2.56/ 65| 1.97/ 50| 1.38/ 35| .11lbs| 17-53

o .
Gasket Temperature Range: 09080806 30* | 3.23/ 82| 3.15/ 80| 2.17/ 55 | .30lbs| 17-54

o o
gmgg;‘?giﬁfet jgo:iig :;ng:; 09080809 30° | 3.23/ 82| 3.15/ 80| 3.35/ 85 | .38lbs| 17-54
SF| Gasket TA0°F 1o +30°F 09081206 30° | 4.72/120 | 3.15/ 80| 217/ 55 | A48lbs| 17-55
. Conlis Stainless Steel Lid S 0908120930° | 4.72/120 | 3.15/ 80| 3.35/ 85 | A49lbs| 17-55
aptive Stainless Steel Lid Screws 09081606 30° | 6.30/160 | 3.15/ 80| 217/ 55 | 51lbs| 17-56
* Flammability: UL 94 HB 09081609 00° | 6.30/160 | 3.15/ 80| 335/ 85 | .61lbs| 17-56
* Surface Resistance: 4 x 10 Ohm / VDE 0303 0908230900 | 9.06/230 | 3.15/ 80| 335/ 85 | .61lbs| 1763
* Disruptive Strength: 24 KV / mm /VDE 0303 09121206 30° | 4.80/122 | 4.72/120| 217/ 55| 521bs| 17-57
* Toxicity: Halogen Free 0912120930° | 4.80/122 | 4.72/120| 335/ 85 | .65lbs| 17-57
¢ Options: (Minimum order may apply) 0912121100 | 480/122| 472/120] 4.13/105 | .771bs| 17-58
Special colors 0912160900 | 6.30/160 | 4.72/120| 354/ 90 | .87Ilbs| 17-58
RFI Protection 0912161400 | 6.30/160 | 4.72/120| 5.51/140 | 1.32lbs| 17-59

09122008 30* | 7.87/200 | 4.72/120| 2.95/ 75 | .871lbs| 17-59

0912200930 | 7.87/200 | 4.72/120| 3.54/ 90 | 1.03lbs| 17-60

09122410 00* | 9.45/240 | 4.72/120| 3.94/100 | 1.04lbs| 17-60

09152008 30* | 7.87/200 | 5.91/150| 2.95/ 75 | 1.15lbs| 17-61

09162409 00" | 9.45/240 | 6.30/160| 3.54/ 90 | 1.43lbs| 17-61

0916241200* | 9.45/240 | 6.30/160| 4.72/120 | 1.75lbs| 17-62

0916361000 | 14.17/360 | 6.30/160| 3.94/100 | 2.17Ibs| 17-62

0920361500 | 14.17/360 | 7.87/200| 5.87/149 | 3.41lbs| 17-64

09233009 00* | 11.81/300 | 9.06/230| 3.35/ 85 | 2.011bs| 17-64

09233011 00" | 11.81/300 | 9.06/230| 4.33/110 | 2.541bs| 17-65

0940361500 | 15.75/400 | 14.17/360| 5.91/150 | 5.421bs| 17-63

Note: Dimensions are external. Metric is the primary dimension.

Inch conversions and weights are for the user’s convenience and

are for reference only. “30” suffix indicates US made. Accessories shown on
drawing page.

1-22 The All-Around Solution



Polycarbonate/ABS Watertight

ROSE+BOPLA

ENCLOSURES

03050504 / 09050504 / 33050504 00

A PHOENIX MECANO COMPANY

Standard Features

External Dimensions: L 52 xW 50 x H 35 mm

Page 1-15, 16, 22

10093132 00 M4x20 Stainless steel captive combo
head lid screws.
10082007 00 2.2mm Neoprene Gasket (6.69” length) .

Accessories

10086123 00 Brass Mounting Inserts.

+ 10098679 00 Safety Lid screws.

* 10093091 00 Allen head lid screws.
10094110 00 Rubber Table feet.

10091201 00 Thumb screws.

10089020 00 Mounting Plate.

10082012 00 2mm Silicone gasket.
10082020 00 2mm RF| Gasket (6.69” length).

Lid 52/51.7*
44743 7%
27.6/27.3%

= |+ |3 J 4
ANE h
S Rl K] | S R
~i| @ :
8% |o 1
IR SN ﬁ
J; j
- @
52/51.4*
40
wlB, W3
_ Vo
9 R
by g : af=
H o<+
© I3 :i RO SR
g ; 8¢9
ﬁ\ ; @
[30.6 /304
K
RZZEEL
-
Base

* = Conical form tapering downwards

Free dimensions-tolerance to DIN 16901 - 130

Cylinder screw M4x20/7

similar to DIN EN (SO 7045 __

35 (total height)

) 25
%*——3
e i
[ Top
© s ® <
Al 35
2 21 2

(max. fitting height}

03050704 / 09050704 / 33050704 00

External Dimensions: L 65 x W 50 x H 35 mm

Page 1-15, 16, 22

Standard Features

* 10093132 00 M4x20 Stainless steel captive combo
head lid screws.
+ 10082007 00 2.3mm Neoprene Gasket (7.48” length) .

Accessories

* 10086123 00 Brass Mounting Inserts.

* 10098679 00 Safety Lid screws.

* 10093091 00 Allen head lid screws.

* 10094110 00 Rubber Table feet.

* 10091201 00 Thumb screws.

10089010 00 Mounting Plate.

10082012 00 2mm Silicone gasket.

* 10082020 00 2mm RF| Gasket (7.48” length).
*10093214 00 M4.7x7.8mm Self tapping screw for
mounting plate.

Lid 65/64.6%
57/56.7*
40.6/40.3*

olefo B
: [T
e e ) | N i
I~
29w =
~ | @
OG-
65/64.4%
53
38 M5
) . /
. o i .
5|5 e Rk
R ER IR R i
B S Sl
S\ : e
43.6/43% &
80/59. 4+
-
Base

* = Conical form tapering downwards

Free dimensions-tolerance to DIN 16201 - 130

Cylinder screw MAx20/7
similar to DIN EN ISO 7045

35 (total height)

25 1G]
1
° i
%!
: ........ .EE]Z_._
I § Top
e
% DO e i <
© B N ©
CNN
L Lss
2.5 29.5 L3

(max. fitting height)

a Jeuoisuawig

sbuimel

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800

17-53



Polycarbonate/ABS Watertight

External Dimensions: L 82 x W Page 1-16, 16, 22

Standard Features

+ 10093133 00 M4x24 Stainless steel captive combo Lid 82/81.5"

head lid screws. 73/72.6% o | * = Conical form tapering downwards
* 10082002 00 2.7mm Neoprene Gasket (11.02" length). 54.2/55.8% ul | Free dimensions-tolerance to DIN 16901 - 130
o | —

Accessories

/79.5%

71/70.6%

10086123 00 Brass Mounting Inserts.
+10093163 00 Safety Lid screws.

+10093092 00 Allen head lid screws. 5 - J!i Cylinder screw M4x24/10
+10094110 00 Rubber Table feet.

Ej -FL“ ] similar to DIN EN IS0 7045
+10052031 00 External Mounting Brackets. _ : ‘ |
*10061201 00 Terminal rails (TS 15). S —#

10093310 00 Thumb screws.
10089021 00 Mounting Plate.

34.2/33.8*

-
P

55 (total height)

*10082013 00 3.3mm Silicone gasket. . . |
+10082021 00 2.62mm RF| Gasket (11.02” length). 40 15, |
*10093214 00 M4.7x7.8mm Self tapping screw for N )
mounting plate. ‘:;‘ |
s e
o | ==
T ﬂfmTZm@.{ “ S
> R To
h p
@0
U rzrzzzrrers ey
5
2 ) 49 3
(max. fitting height)
Base @ sl

External Dimensions: L82 x W80 x H85 mm Page 1-15, 16, 22

Standard Features

+ 10093133 00 M4x24 Stainless steel captive combo Lid 82/81.5*
head lid screws. 73/72.6%
10082002 00 2.7mm Neoprene Gasket (11.02" length). 542,753 8 *z Ccr\ical fprm tapering downwards
- Free dimensions-tolerance to DIN 16901 - 130 i
i i
bio|®
Accessories Sl |m
T FA S
* 10086123 00 Brass Mounting Inserts. E ~ E
10093163 00 Safety Lid screws. 0|~ | ¢ .
+ 10093092 00 Allen head lid screws. " | = Sytinder screw s
+ 10094110 00 Rubber Table feet. D ; : Q —
* 10052031 00 External Mounting Brackets. 1 a] : Js)
*10061201 00 Terminal rails (TS 15). :
*10093310 00 Thumb screws. .
+ 10089021 00 Mounting Plate. 82/81% == 85 (total height}
* 10082013 00 3.3mm Silicone gasket. 70 70

* 10082021 00 2.62mm RF| Gasket (11.02" length).

+ 10083214 00 M4.7x7.8mm Self tapping screw for 57.2/58* oy
mounting plate. #L
g =
; R -
? I
& ! [ie!
fo] d
S p= 9
©5 @ G -
) =-
m
AR
3 79 {max. fitting height) 3
76,75+
Base @® ==

17-54 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

0xW80xH55mm Page 1-15, 16, 22

External Dimension

Standard Features
* 10093133 00 M4x24 Stainless steel captive combo

head lid screws. Lid 120/119.5%
* 10082002 00 2.7mm Neoprene Gasket (14.56” 111/110.6% * = Conical form tapering downwards
length). 92.2/91.8* Free dimensions-tolerance to DIN 16901 - 130
j Qg
. P P = N
Accessories oo |
2N e)
+ 10086123 00 Brass Mounting Inserts. NN R
* 10093163 00 Safety Lid screws. gl|= ‘;ﬁ )
+ 10093092 00 Allen head lid screws. e C_yh_r;der screw M4x24/100
« 10094110 00 Rubber Tabl feet. jw (Q similar to DIN EN 150 7045 __
+ 10052031 00 External Mounting Brackets. o) o
* 10061202 00 Terminal rails (TS 15).
* 10052131 00 External Hinge.
+ 10093310 00 Thumb screws. 120/119.3+ - 55 (total height)
* 10089022 00 Mounting Plate. 40 15
+10082013 00 3.3mm Silicone gasket. 108 s
+10082021 00 2.62mm RFI Gasket (14.56” length). 95.2/94.5* -
* 10093214 00 M4.7x7.8mm Self tapping screw for <
mounting plate. rd ) © s [ % Etﬁ
&)
& pal
TP IS ==
M5 2y )
a8 To || b o Top
CIINEERR TS e @I2E[®  © Gl s Vo <
E Ny« =g
o o~
5 | 2l - ]
e ‘ < * - T
82 ’WS 1ls
96 3 | 49 3
114/113.3* (max. fitting height)
Base -

External Dimension 0xW80xH85mm

Page 1-15, 16, 22

Standard Features

10093133 00 M4x24 Stainless steel captive combo Lid 126/119.5+
head lid screws. T11/110.6¢
* 10082002 00 2.7mm Neoprene Gasket (14.56” length). 92.0/91 8% * = Conical form tapering downwards
. : Free dimensions-tolerance to DIN 16901 - 130
i | ;
. P = |
Accessories g g o :
W] S L
10086123 00 Brass Mounting Inserts. g N E ;
*10093163 00 Safety Lid screws. 0| | < )
Cylinder screw M4x24/10
10093092 00 Allen head lid screws. " Y
+10094110 00 Rubber Table feet. D\ | ﬁﬂ similar to DIN EN 150 7045
+10052031 00 External Mounting Brackets. o O
+10061202 00 Terminal rails (TS 15). ®
10052131 00 External Hinge. total height
+10093310 00 Thumb screws. 120/119* - Sotal height) 1e)
* 10089022 00 Mounting Plate. 108 70
* 10082013 00 3.3mm Silicone gasket. 95.2 /94~ 4
+ 10082021 00 2.62mm RFI Gasket (14.56" length). o N
*10093214 00 M4.7x7.8mm Self tapping screw for : =+
mounting plate. ! g @ @ Sl _% i
y O r_‘7‘
&1y 1o : ol [® 2 =)
IR IYS H o [~ =g 0| -
~ .
©g Oij—r@C ————————— . elEFeo oL s 3
e} l ' ™~ - g
i : )
N T : - 2
5 © 0t o
l g 2 N
| S
81 G ULs o
96 3 79.5 (max. fitting height) 2.5 3
114/113+ s
Base - é
()
For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-55



Polycarbonate/ABS Watertight

External Dimensions: L160 x W Page 1-15, 16, 22

Standard Features

+ 10093133 00 M4x24 Stainless steel captive combo

f i 160/159.5*
head lid screws. i Lid / " * = Conical form tapering downwards
+ 10082002 00 2.7mm Neoprene Gasket (17.71” length). 151/150.6 Free dimensions-tolerance to DIN 16901 - 130
132.2/131.8+%
i | ]
Accessories 5o :-:
10086123 00 Brass Mounting Inserts. S g Q -
+10093163 00 Safety Lid screws. S
10093092 00 Allen head lid screws. bl L e ; Cylinder screw M4x24/10
* 10094110 00 Rubber Table feet. D ; Q simifar to DIN EN 1SO 7045
* 10052031 00 External Mounting Brackets. A ' 5
*10061203 00 Terminal rails (TS 15). =
10052131 00 External Hinges. ®
10093310 00 Thumb screws. 160/ 159.3* = 55 (total height)
* 10089023 00 Mounting Plate. 0 15
+10082013 00 3.3mm Silicone gasket. 148 e EeR
10082021 00 2.62mm RF| Gasket (17.71” length). . 135.2/134.7% A4
*10093214 00 M4.7x7.8mm Self tapping screw for , :
mounting plate. q ; e T =
- ) © i © [& -t
, = s S, [
M| o M5 : - "y o
o | O o ; o e |m b= ~ Top
CRI R EE - Su— S S| @ @ fFis to <
= ; o =
3] | ~ |~
| 3 i —
\a @ | @) @ i
0 [0 N =0
- N
1215 ys Al Ls
136 | 3 ‘ 49 ] 3
Base 154/153.5% {max. fitting height)
-

External Dimensions: L160 x W Page 1-15, 16, 22

Standard Features

+10093133 00 M4x24 Stainless steel captive combo
head lid screws. Lid 160,/159.5%

+ 10082002 00 2.7mm Neoprene Gasket (17.72" length). 157 7150.6+ ;r:e‘:gi':]‘:risfi‘;:?_ttgf;::fe‘1‘;”‘5’?:’?’6"950 130
132.2/131.8%
J | ¥
Accessories w e | x =
©lo|
* 10086123 00 Brass Mounting Inserts. 2 :9 5 B
+10093163 00 Safety Lid screws. N S Y
+10093092 00 Allen head lid screws. &~ | & ,
+ 10094110 00 Rubber Table feet. e s a2/
*10052031 00 External Mounting Brackets. ™
*10061203 00 Terminal rails (TS 15).
*10052131 00 External Hinges. @
+10093310 00 Thumb screws. 85 (total height)
+10089023 00 Mounting Plate. 160/159+ -
+10082013 00 3.3mm Silicone gasket. 148 70
+10082021 00 2.62mm RFI Gasket (17.72" length). 135.2/134% R S
+10093214 00 M4.7x7.8mm Self tapping screw for ?
mounting plate. 1 = 3
ol m— 2l
O 1_'7’
* A o0
. @ r 0 3 e = g Top
N e R PG @ T O <
o0 [P =
Ny
| O i
: LJO - Sy
121 & UL s
136 ™ 79 " .
B4,/ 155+ 3 | (max, fitting height) 3
Base -

17-56 The All-Around Solution




ROSE+BOPLA

ENCLOSURES

122 xW 120 x H 55 mm

A PHOENIX MECANO COMPANY

Page 1-15, 16,

22

Standard Features

10093133 00 M4x24 Stainless steel captive combo
head lid screws.

10082002 00 2.7mm Neoprene Gasket (17.72" length).

Accessories

10086123 00 Brass Mounting Inserts.

10093163 00 Safety Lid screws.

* 10093092 00 Allen head lid screws.

10094110 00 Rubber Table feet.

10052031 00 External Mounting Brackets.

10061204 00 Terminal rails (TS 15).

10052131 00 External Hinges.

10093310 00 Thumb screws.

10089002 00 Mounting Plate.

10082013 00 3.3mm Silicone gasket.

10082021 00 2.62mm RFI Gasket (17.72" length).

10093214 00 M4.77.8mm Self tapping screw for
mounting plate.

External Dimensio
le 122/121.5*
i 113/712.6%
I 94.2/93 8%
7 ( : E
e 5
bR | :
g 5K i
eoiEl ) o '
| ﬁ
Li - @t @
@122/121.3' -
110
97.2/96.5%
=g
:fé‘ = | 3 FOJ b e
O] 7 8| G Grle)s
SE J i e
| i N
i |
1‘ ! ﬁ.\ f\J@
‘ 0
. .
83.4 &s
100 \
Base 1165,5* -

|* = Conical form tapering downwards
Free dimensions-tolerance to DIN 16901 - 130

Cylinder screw M4x24/10
similar to DIN EN 15O 7045 __

5% {total height)

A0 15,
4
o I
3 i S
1 H -
T TN
L o Top
o8 Iie <
= ]
]
i
!_4
o ;
o R N
L4
4 | 4 L3

{manx. fitting height)

External Dimensio

122 xW 120 x H 85 mm

Page 1-15, 16, 22

Standard Features

* 10093133 00 M4x24 Stainless steel captive combo Lid 1377128 = Conteat form tapering downwards
f11ead Iid screvis. u 9%.2/83.8" t | Free dimensions-tolerance to DIN 16901 - 130
+10082002 00 2.7mm Neoprene Gasket (17.72" length).
5|6l 2
Accessories 22|z
- S
10086123 00 Brass Mounting Inserts. IR .
+ 10093163 00 Safety Lid screws. - = C.y".r[-der screw M4;é4900 s
+10093092 00 Allen head lid screws. similar to DIN EN | 4 [
10094110 00 Rubber Table feet.
10052031 00 External Mounting Brackets. [
* 10061304 00Terminal rails (TS 32). _ R i
+ 10061324 00 Terminal rails (TS 35). ... .35 (totalheight) —_—
*10052131 00 External Hinges. o a5 |
10093310 00 Thumb screws. 4 [
10089002 00 Mounting Plate. ;
10082013 00 3.3mm Silicone gasket. o 4 — A
10082021 00 2.62mm RF| Gasket (17.72” length). A I Lx
10093214 00 M4.77.8mm Self tapping screw for J/ N R
mounting plate. ff J f o g f
Sle : E 33 7
el o | i, e i [P 3 ! £ Top o
ENEEE - S @l e)s g S o< S
& , &= o g @
- : R X 7 S
| : s a 3
i X 4 =.
| = =1 oo . S
| 1o ey 5 . 2
' O [@) SE Eﬂ%‘ -
'SANSALLANLLAA NRR AR N
23 4 w@ | a h Q
100 4 | 78 (max.fitting height) | 3 )
Ti6/175" - — §
Base & - a
()
For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-57



Polycarbonate/ABS Watertight

External Dimensions: L 122 x W 120 x H 105 mm Page 1-15, 16, 22

Standard Features

+ 10093050 00 M4x45 Stainless steel captive combo ) 122/120.8* L
head lid screws. Lid [ T13/7:1.9% . ]
+10082002 00 2.7mm Neoprene Gasket (17.72" length). : 94.2/53.7= T *= Co_mca[ f_orm tapering downwards
: Free dimensions-tolerance to DIN 16901 - 130
o \‘O‘\J
= &

Accessories

10086123 00 Brass Mounting Inserts.
10094110 00 Rubber Table feet.
10052031 00 External Mounting Brackets.
*10061304 00 Terminal rails (TS 32). : .
*10061324 00 Terminal rails (TS 35). . m
*10052131 00 External Hinges. 1 h
10089002 00 Mounting Plate.

120/118.8%

Cylinder screw M4x45/10

similar to DIN EN (SO 7045 __

IR\

105 (total height)

+ 10082013 00 3.3mm Silicone gasket. ® 1227121+ - = =
+10082021 00 2.62mm RFI Gasket (17.72" length). 110
*10093214 00 M4.7x7.8mm Self tapping screw for 97.2/96.2% ] 2 E
mounting plate. _ : S
=
Al ® Gy i1
T N
Y Q)
o
[ J . 3
& o M& — = x| ™ TOp
| o o NI =
oz lgs e @ szl ® ] o <
o [ | |
~ | o = @ 2]
= \ ol
| ™
SN 4
t i @ ® = |
ol i :
,,,,, e
B34 N Big sy
100 4 88.5 . fitting height 2.5
776,71 157 {max. fitting height)
Base ® -

External Dimensio

Standard Features

* 10093045 00M4x37 Stainless steel captive combo _ _
head lid screws. Lid 151/1580.1* * = Conical form tapering downwards

+ 10082002 00 2.7mm Neoprene Gasket (19.69” length). 132.2/131.3* Free dimensions-tolerance to DIN 16901 - 130

Accessories

* 10086123 00 Brass Mounting Inserts.
* 10094110 00 Rubber Table feet.
* 10052031 00 External Mounting Brackets.

120/118.9%
111/110.1%
72.2/73.1%

Cylinder screw M4x37/10
similar to DIN EN 1SO 7045 _

I :
* 10061305 00 Terminal rails (TS 32).
* 10061325 00 Terminal rails (TS 35). S 6
* 10052131 00 External Hinges. = 4 .
+ 10089006 00 Mounting Plate. ® 150/158.0¢ - 90_ttotal height)
10082013 00 3.3mm Silicone gasket. 748
+10082021 00 2.62mm RF Gasket (19.69” length). T352/134.2%
10093214 00 M4.7x7.8mm Self tapping screw for ;
mounting plate. :
Ws ‘ olg 5
| = i |
' O
) | e |
5 | Al 1 3
o g L o M5 i s & "’_j /. TOp
I I [ - GRS S— o8 IR I S— S — o<
=) E A @ =
o ; Wl
: r~
5 | |
) (el —
|2 i
95 -
120.7 &%‘9 ) S
136 83.5 (max. fitting height)
5471537 S & 3.5
Base hl

17-58 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

External Dimensions: L 160 x W 120 x H 140 mm Page 1-15, 16, 22

Standard Features

* 10093072 00 M4x90 Stainless steel captive combo
head lid screws. Lid 160/157.2¢ 4

" * = Conical form tapering downwards
* 10082002 00 2.7mm Neoprene Gasket (19,69 length). 115212//1152091; Free dimensions-tolerance to DIN 16901 - 130

) 1
Accessories E Q
* 10086123 00 Brass Mounting Inserts. ; S S U N L
+ 10094110 00 Rubber Table feet. S a :
| ™~ H

* 10052031 00 External Mounting Brackets. : Cylinder screw M4x90/22
* 10061305 00 Terminal rails (TS 32). i similar to DIN EN 15O 7045 _

+ 10061325 00 Terminal rails (TS 35). :
10052131 00 External Hinges. Q ; 6
o~

+ 10089006 00 Mounting Plate.

+10082013 00 3.3mm Silicone gasket. ® 160/%58 g+ - 140 (rotal height)
10082021 00 2.626mm RF| Gasket (19.69” length). a5 - 60 80
* 10093214 00 M4.77.8mm Self tapping screw for 135.2/134.2*
mounting plate. N
] v
2 o =
5 i NE
© ol & ol « @ﬁm : Mo I g Top
NEER o — X HE I S R — 0
(=) I
o~ o —
- ™~
3 ' |
j ) b © @ —
O @ @) ]
120.7 %@ Al Ls5 RS
136 133.5 {max. fitting height)
154 /153% 3 929
Base =

03122008 / 09122008 / 03122008 00 External Dimensions: L 200 x W 120 x H 75 mm Page 1-15, 16, 22

Standard Features

10093133 00 M4x24 Stainless steel captive combo Lid 200/199.5* _ ]
head lid screws. 191.2/190.8* *= Comcal form tapering downwards
+ 10082002 00 2.7mm Neoprene Gasket (23.23" length). 172.2/171.8% Free dimensions-tolerance to DIN 16901 - 130

Accessories

* 10086123 00 Brass Mounting Inserts.
+10093163 00 Safety Lid screws. :
+10093092 00 Allen Head Lid screws. J : Cylinder screw M4x24/10

*10094110 00 Rubber Table feet. [ﬂ : ” similar to DIN EN I1SQ 7045
* 10052031 00 External Mounting Brackets. : )

* 10061306 00 Terminal rails (TS 32).
* 10061326 00 Terminal rails (TS 35).

120/119.5+
112.2/110.8*
72.2/71.8%

+ 10052131 00 External Hinges. 200/#99* il 75 (total height)
*10093310 00 Thumb screws. 188 60 15
10089003 00 Mounting Plate. 175.2/174.2% 4
* 10082013 00 3.3mm Silicone gasket. N
+ 10082021 00 2.62mm RFI| Gasket (23.23 length). 3 NN
+10093214 00 M4.77.8mm Self tapping screw for ol o mmm——— = L1 =
mounting plate. 5 L s
"o u 9‘
2 . %)= - Top
© P & i SIS @ © YO
- 2= T
9]
g Al (= .
137.5 &, L85
160 A | 35
176 (max. fitting height)
194 /193
Base ‘ e

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-59

a Jeuoisuawig

sbuimel



Polycarbonate/ABS Watertight

External Dimensions: L200 x W120 x H90 mm Page 1-15, 16, 22

Standard Features

10093045 00M4x37 Stainless steel captive combo Lid 200/198.9*
head lid screws. 191/190.1* * = Conical form tapering downwards
* 10082002 00 2.7mm Neoprene Gasket (23.23" length). 172.2/171.3% Free dimensions-tolerance to DIN 16901 - 130

Accessories

* 10086123 00 Brass Mounting Inserts.

* 10094110 00 Rubber Table feet.

* 10052031 00 External Mounting Brackets.
+ 10061306 00 Terminal rails (TS 32). rﬂ
10061326 00 Terminal rails (TS 35).
* 10052131 00 External Hinges.

* 10089003 00 Mounting Plate.

120/118.5%
T11/710.1%
72.2/71.5%

Cylinder screw M4x37/10
similar to DIN EN ISO 7045

+ 10082013 00 3.3mm Silicone gasket. 200/189+ - 90 (total height)
+ 10082021 00 2.62mm RFI Gasket (23.23" length). 188 60
10093214 00 M4.7x7.8mm Self tapping screw for 175.2/174,2# 4
mounting plate. :1
’ : ; ° B | s
3) : © =
: : ]
> P i Top
© — | ol wi o I V‘: = @ @ = R N ® <5
EREN i3 =
N il p=
~| T }
@9 o
g A N
137.5 \%\ Al l.e5
160 3 835 35
176 {max. fitting height)
194 /193%
Base -

03122410/ 09122410/ 33122410 00 External Dimensions: L 240 x W 120 x H 100 mm Page 1-15, 16, 22

Standard Features

240.5/239.6
+10093047 00 M4x34 Stainless steel captive combo 231.5/230.7s

head lid screws. ‘ 214.2/213.4
+10082002 00 2.7mm Neoprene Gasket (26.77” length).

1 o *=Conical form tapering downwards
Free dimensions-tol to DIN 16901 - 130

120/119.1»

Accessories

111/110.2¢
75.2/74 .bLe

*10086123 00 Brass Mounting Inserts.
10094110 00 Rubber Table feet. ﬁ @
*10052031 00 External Mounting Brackets. £ ¢
+10061307 00 Terminal rails (TS 32).
+10061327 00 Terminal rails (TS 35).
*10052131 00 External Hinges.

*10089005 00 Mounting Plate. Cyinder sorow N0
10082013 00 3.3mm Silicone gasket.

Lid

10082021 00 2.62mm RF| Gasket (26.77" length).
* 10093214 00 M4.7x7.8mm Self tapping screw for ® 1005
mounting plate. 240.5/239.28 (total height)
229 Rl 75.5
217.2/216.2¢ & Sdeen o b
[ u
8
go o1
af . 0
2 o g9 o o 3
® | o
= ——=- | T o
© I5I4e i 2101 © © §
& % ; &
64.5 & ___l__s
s 138.5 35 94
202.5 (max. fitting height )
234.5/233.50
e

17-60 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

03152008 / 09152008 / 33152008 00

External Dimensions: L200 x W150 x H75 mm

A PHOENIX MECANO COMPANY

Page 1-15, 16, 22

Standard Features

+ 10093046 00 M4x24 Stainless steel captive combo
head lid screws.
+ 10082003 00 3.3mm Neoprene Gasket (25.98" length).

Accessories

+ 10086123 00 Brass Mounting Inserts.

+ 10093163 00 Safety Lid screws.

* 10093092 00 Allen Head Lid screws.

* 10094110 00 Rubber Table feet.

* 10052031 00 External Mounting Brackets.

+ 10061308 00 Terminal rails (TS 32).

+ 10061328 00 Terminal rails (TS 35).

* 10052131 00 External Hinges.

10003310 00 Thumb screws.

*10089004 00 Mounting Plate.

*10082013 00 3.3mm Silicone gasket.

+ 10082022 00 3mm RFI Gasket (25.98" length).

*10093214 00 M4.7x7.8mm Self tapping screw for
mounting plate.

* = Conical form tapering downwards

Free dimensions-tolerance to DIN 16901 - 130 I

: 260/199.5%
Lid 190,/789.57
171/170.6%
T E i
: I—*J L
2ia 8| |
D[ i—
= I || A
\‘\\\'
(=N i
21T
RS
LRl /o
200/199* nait!
b 188
| 175/174%
LYY -8 H 9]
| : : - - .
s —rre——— ® |lals
< : S, : s &=
=2 % i = R, g
(CPSIES R PR B8 (B ; e IS5 @
Bl |8 M5 i o T
l 1 & ; @F
I al : 3
160 \@
T84,/193 &
B -
Base ®

60
o~
3
T |
fﬁ ee]
i ° Top
® e HOES
] gy
1 )
68.5 35

Cylinder screw M4x24/10
similar to DIN EN ISO 7045

75 (total height)

{max. fitting height)

03162409 / 09162409 / 33162409 00

External Dimensions: L240 x W160 x H90 mm

Page 1-15, 16, 22

Standard Features

* 10093133 00 M4x24 Stainless steel captive combo
head lid screws.
+ 10082002 00 2.7mm Neoprene Gasket (30.71” length).

Accessories

* 10086123 00 Brass Mounting Inserts.

* 10093163 00 Safety Lid screws.

* 10093092 00 Allen Head Lid screws.

* 10089007 00 Rubber Table feet.

* 10052031 00 External Mounting Brackets.

* 10061307 00 Terminal rails (TS 32).

* 10061327 00 Terminal rails (TS 35).

* 10052131 00 External Hinges.

10093310 00 Thumb screws.

10089007 00 Mounting Plate.

10082013 00 3mm Silicone gasket.

* 10082021 00 2.5mm RFI Gasket (30.71” length).
*10093214 00 M4.7x7.8mm Self tapping screw for

Lid

240.3/239.8*

231.37230.8

2:3/212.5%

j‘ e

160.3/159.8%
151.3/150.8*
116/714 6+

) t
1
@ 24037235+ -
228 -
i 216/214.7% ‘
I —

* = Conical form tapering downwards
Free dimensions-tolerance to DIN 16901 - 130

Cylinder screw M4x24/10
similar to DIN EN 150 7045

90 (total height)

>

JL

mounting plate. -

% T_ o M5 @ x (W]
3 i i a . 3 Top =3
REEE N%f rrrrrrrrrrrrrrrrrrrrrr SIS @ © oo + O 3
g7 z < L 2
© E '1 ; B s
5 | i 3
! ] = D
i 2% m Y :t b E
; | 2201164 J @, . LB?:,,,,,, 1Ls g
Base l 234.3/7233* (max. fitting height) =3
® = S

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-61



Polycarbonate/ABS Watertight

62412 /09162412 / 33162412 00

External Dimensions: L 240 x W 1

0 mm Page 1-15, 16, 22

Standard Features

10093048 00 M4x55 Stainless steel captive combo
head lid screws.
* 10082002 00 2.7mm Neoprene Gasket (30.71” length).

Accessories

10086123 00 Brass Mounting Inserts.

10094110 00 Rubber Table feet.

* 10052031 00 External Mounting Brackets.

+ 10061307 00 Terminal rails (TS 32).

+ 10061327 00 Terminal rails (TS 35).

10052131 00 External Hinges.

* 10089007 00 Mounting Plate.

10082013 00 3.3mm Silicone gasket.

+ 10082021 00 2.62mm RFI Gasket (30.71" length).

*10093214 00 M4.77.8mm Self tapping screw for
mounting plate.

Lid

o
160.3/159*
138

240/239*

231/229.6%

213/270%

160/ 159%
151 /1560%
115/114%

133/132+

D %O
® 240.3/239* o
; 228 )
‘ . 216/214.7%
I

* = Conical form tapering downwards
Free dimensions-tolerance to DIN 16901 - 130

Cylinder screw M4x55/10
similar to DIN EN {SO 7045

120 (total height)

130
120

-t

LN
@ O L, Top
K@ g e O <
0[O f<t
— M ho

I+

/N

201.4

216
234.3/233%

5 e
[ )
3 113.5 (max. fitting height) 35

610/09163610 00

External Dimensions: L 360 x W 1

01 mm

Page 1-15,22

Standard Features

+ 10093047 00 M4x34 Stainless steel captive combo
head lid screws.
+10082003 00 3.3mm Neoprene Gasket (40.94” length).

Accessories

* 10086124 00 Brass Mounting Inserts.

10094110 00 Rubber Table feet.

*10052031 00 External Mounting Brackets.

*10061309 00 Terminal rails (TS 32).

*10061329 00 Terminal rails (TS 35).

*10052131 00 External Hinges.

*10089011 00 Mounting Plate.

+10082013 00 3.3mm Silicone gasket.

10082021 00 2.62mm RF| Gasket (40.94” length).

+10093215 00 M6.3x9.5mm Self tapping screw for
mounting plate.

Lid

160.3/159.1*

A - y
360/359 * = Conical form tapering downwards
350734972 Free dimensions-tolerance to DIN 16901 - 130
332/331.2* )
Y )
« i 5
IS ' o
= : ey
S e s "
M ' .
N : )
e ! bt Cylinder screw M4x34/10
; similar to DIN EN 15O 7045
N —

® 360/358.7 - 5 100 (total height)
- 348 )
‘ 338/333.7% A‘
. I i 7
F @]@ N { ==
: S
4 (w]
1 -t m}
* | =
IS IS T
= g [ L op
v} e o ISR
2 KR @ o O
=) 0o |y
@ -2 e
c )
1 4 “ =
, 3 ph o8 B o
, 316 T Al
330 ¢ 3 ]| 935 3.5
Base 353/351.7* (max. fitting height)

17-62

The All-Around Solution




ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

03082309 00/ 09082309 00/ 33082309 00 External Dimensio xW 80 x H 85 mm Page 1-15, 16, 22
Standard Features
. 300/299*
10093133 00 M4x24 Stainless steel captive combo Lid 290,283+ * = Conical form tapering downwards
head lid screws. i 271/270% ) Free dimensions-tolerance to DIN 16901 - 130
10082002 00 2.7 mm Neoprene gasket (23.2" L %7 11
length). | It
\
I
Accessories |
I
R L]
* 10081623 00 Brass mounting Inserts. § § § | g Cylinder screw M4x37/10
10093163 00 Safety lid screws. o — , o similar to DIN EN ISQ 7045
* 10093092 00 Allen head lid screws. ‘
* 10094110 00 Rubber table feet. I
*10052031 00 External mounting brackets. | |
10052131 00 External hinges. 1 i5,
+ 10093310 00 Thumb screws. (& 500,/298° 15 . 85 (total height)
10082013 00 3.3mm silicone gasket. P o5 30 i
*10082021 00 2.62mm RF| gasket (23.2" Length). [‘* 275/274.1% 3 e
10093214 00 M4.7x7.8mm Self tapping screw for - I ~1 e /
mounting plate. é‘ 5 . I coees =
| | IY o B .\1
I ¢ s
| |
I
< M5 I . le|n
] g ! alsls Top
©Jggg He - e T EHN O] ®f---1 -0«
2 7 ! NS
ot ! @O
} E4EIN
; 23
l | -
1 | SR L= e
‘ 85 L5
- 275;55 3 78.5 3.5
284/2931 * {max. fitting height)
Base =i
09403615 00 External Dimensions: L 400 x W 360 x H 150 mm Page 1-22
Standard Features
. 360/358.3*
*10093112 00 M6x45 Stainless steel captive combo le . 348/347.4* . * = Conical form tapering downwards
head lid screws. 317/315.4% Free dimensions-toterance to DIN 16901 - 130
*10082003 00 3.3 mm Neoprene gasket (59.84"
length).
Accessories <
0 :- % ; Cylinder screw M6x45/10
2 'lg ’Lg g similar to DIN EN 1SO 7045 _
10081624 00 Brass mounting inserts. E 12 Q
«10094110 00 Rubber table feet. T2 5
*10061312 00 Terminal rail (TS 32). el "
*10061332 00 Terminal rail (TS35). | | ] | [P oo i
+ 10052131 00 External hinges. ® 380/358.3* - 1.25 150 (total height)
+10089134 00 Mounting plate. \ 340 100 50
+10082013 00 3.3mm silicone gasket. I . 320/318.3* ) ] 10
+10082022 00 3mm RF gasket (59.84" Length). L I e . o
*10093215 00 M6.3x9.5 Self tapping screw for —— @F — m;
mounting plate. J 0 <
€ g
® s
2] [ [
3 Bk Top
©8 <Hdde 0} o
jw] OO [N
< ~ [0 1>
<+ r MY [y
L1 —
ol - o] = I
300 \ 10
362,/350.5* % 2 [ T1a2 4
Base ® (max. fitting height)

a Jeuoisuawig

sbuimel

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800

17-63



Polycarbonate/ABS Watertight

03203615 /09203615 / 3320361 External Dimensions: L 360 x W 200 x H 150 mm Page 1-15, 16, 22

Standard Features

* 10093112 00 M6x45 Stainless steel captive combo i .
head lid screws. Lid 360/358.3

349/347 4* * = Conicai form tapering downwards
+ 10082003 00 3.3mm Neoprene Gasket (42.52" length). 3777315.4% Free dimensions-tolerance to DIN 16301 - 130
I i
1 g

Accessories

* 10086124 00 Brass Mounting Inserts.
10094110 00 Rubber Table feet.

* 10052031 00 External Mounting Brackets.
+10061310 00 Terminal rails (TS 32). :

+ 10061330 00 Terminal rails (TS 35). :

10052131 00 External Hinges. m (ﬁ o)
* 10089008 00 Mounting Plate.

* 10082013 00 3.3mm Silicone gasket. ® - | hei

+ 10082022 00 3mm RFI Gasket (42.52" length). 560/358.2¢ 1.25 1495 (total height)

200/198.3+
185/187.4
T33/131.4%
758/156.4"

Cylinder screw M6x45/10
similar to DIN EN 15O 7045 —

10093215 00 M6.3x9.5 Self tapping screw for 320}??8 = 100 49.5
mounting plate. I . - -] 10
e 1 o xS T seessnapes = b=
) ; &
: a [fs] <+
?g INE=E= -L—ﬂ ;‘g g . TOp
RSN E SR PIEERI@ @ e ®<
g T a Sle
N : — == I}
a % I —
S 9l 0 S = e
L 301 \ & _ 10
‘ 330 ” 3.5 T42 (max. fitting height) || 4
352/350.3*
Base /

>

03233009 / 09233009 / 33233009 00 External Dimensions: L 300 x W 230 x H 85 mm Page 1-15, 16, 22

Standard Features

Lid 300/299* _ ,
+10093045 00 M4x37 Stainless steel captive combo 290/289* * = Conical form tapering downwards
head lid screws. ] 27172707 Free dimensions-tolerance to DIN 16901 - 130
+10082003 00 3.3mm Neoprene Gasket (41.73" length). I g; :H D
[ \
I
|
I
Accessories 21208 | 3
NI — ol
PR S el T ~ )
10086123 00 Brass Mounting Inserts. Rl2|% ! > Cylinder screw M4x37/10
*10094110 00 Rubber Table feet. NfN - T o similar to DIN EN 15O 7045
* 10052031 00 External Mounting Brackets. i |
*10061311 00 Terminal rails (TS 32). !
*10061331 00 Terminal rails (TS 35). L |
*10052131 00 External Hinges. Eﬁﬁ 1]
. 1] <G,
*10089009 00 Mounting Plate. @ 300/ 299" - 1.5 85 (total height}
+10082013 00 3.3mm Silicone gasket. 288 0
+10082022 00 3mm RFI Gasket (41.73 length). l 275/2741° ‘
*10093214 00 M4.7x7.8mm Self tapping screw for i
mounting plate. T
I
: I
|
. ‘ b M5 : CREN LS
PR i B Top
© Y848 ¥ R $1288] @ ©fF---1 140«
g T | Bl
i I — (N
i |
| |
| | :
i | t —
| R s e . 1 e
P C— A=
n & 3 78.5 35
294/293.1* {max. fitting height)
Base -

17-64 The All-Around Solution




ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

03233011 /09233011 / 33233011 00 External Dimensions: L 300 x W 230 x H 110 mm Page 1-15, 16, 22

Standard Features

* 10093071 00 M4x62 Stainless steel captive combo Lid 300/298.1*

head lid screws. 290,/288.24 * = Conical form tapering downwards
+10082003 00 3émm Neoprene Gasket (41.73" length) [ 271/269.2* ) Free dimensions-tolerance to DIN 16901 - 130
’ ' ’ = |
L 1l
\
]
|
Accessories s l .
2215 ‘ 2
+ 10086123 00 Brass Mounting Inserts. o L= fr----------- Fommm - Q]
+10094110 00 Rubber Table feet. = g © ! 2 Cylinder screw Mdx62/10
* 10052031 00 External Mounting Brackets. o I similar to DIN EN I1SQ 7045
+10061311 00 Terminal rails (TS 32). |
* 10061331 00 Terminal rails (TS 35). !
+ 10052131 00 External Hinges. \
+ 10089009 00 Mounting Plate. i & 1 _
+10082013 00 3.3mm Silicone gasket. (&) 300/290% 1.5 110 (total height}
* 10082022 00 3mm RFI Gasket (41.73" length). ) 288 | 55 _, 55
10093214 00 M4.7x7.8mm Self tapping screw for ’— 275/274.14 ] 1.3
mounting plate. r - 5 L | ==
T © i
, [ o B N
1 < N
I L=}
“ M5 | iels
& VJ_ ! 5l Top
o g8 3¢ - O —— 2528 @ ©f--- ot
2977 T ! NER
~ ] Ol
1 — NN
1
|
| a3
, -
Y v m— . i <
IR - S— s
27255 3 103.5 35
Base 294/293.1% j {max. fitting height}
gl

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-65

a Jeuoisuawig

sbuimel



